
IB(5”,4)) RUNNING BOARD
07-12 Dodge Nitro

PARTS LIST:
Item QTY Description Item QTY Description
#01 1 Drive Side Bar #09 4 M10 Flat Washer
#02 1 Passenger Side Bar #10 8 M8-1.25x25 mm Hex Head Bolt
#03 1 Driver Front Mounting Bracket (DFM) #11 8 M8 Nylon Lock Nuts
#04 1 Passenger Front Mounting Bracket (PFM) #12 16 M8 Flat Washer
#05 1 Driver Rear Mounting Bracket (DRM) #13 4 Plastic Washer
#06 1 Passenger Rear Mounting Bracket (PRM) #14 16 M6 Square Hex Bolt
#07 4 M10-1.5x25 mm Bolt Plate #15 16 M6 Flat Washers
#08 4 M10 Nylon Lock Nuts #16 16 M6 Nylon Lock Nuts

INSTALLATION INSTRUTION:
REMOVE CONTENTS FROM BOX. VERIFY ALL PARTS ARE PRESENT. READ INSTRUCTIONS
CAREFULLY BEFORE STARTING INSTALLATION.
1. Starting from rear of the vehicle on the driver side. Insert (1)M10x25 mm Bolt Plate into the rectangular

hole located in the side panel, and threaded Bolt Plate drops through round hole(Fig 1 ).
2. Attach driver side rear Mounting Bracket to the inserted Bolt Plate with: (1) M10 Nylock Nut and (1)

M10 Flat Washer (Fig 2). NOTE: Rear Mounting Brackets are longer than front ones and the 10mm
mounting tab location on the brackets face the front of the vehicle. Make sure that the vertical mounting
locations in the Brackets are on the outer side of pinch weld..

3. Attach Mounting Bracket to pinch weld using: (2) M8x 25 mm Hex Head Bolts,(2) M8 Nylock Nuts, and
(4) M8 Flat Washer(Fig 2).Finger tighten.

4. Repeat steps 1-3 for driver side front mounting bracket.
5. Located driver side bar onto mounting brackets. Attach side bar to mounting brackets using: (4) M6

Square Hex Bolt (4) M6 Flat Washers and (4) M6 Nylon Lock Nuts, (Fig 3).Finger tighten.
6. Adjust Side bar properly; and then tighten all hardware at this time.
7. Repeat steps 1-6 for passenger Sidebar installation.
8. Do periodic inspections of the installation to make sure that all hardware is secure and tight.

To protect your investment, wax this product after installing. Regular waxing is recommended to add a protective layer
over the finish. Do not use any type of polish or wax that may contain abrasives that could damage the finish.
For Polished Finishes: Aluminum polish may be used to polish small scratches and scuffs on the finish. Mild soap may
be used also to clean the Running Board.
For black finishes: Mild soap may be used to clean the Running Board.

DR
M

PRM PFM DFM



IB(5”,4)) RUNNING BOARD
07-12 Dodge Nitro

Fig 1

M10 bolt plate
M10 Nylock nut
M10 Flat washer

M8 hex bolt
M8 Nylock nut
M8 Flat washer

Fig 2

Bolt plate

(4)M6 Square Hex Bolt
(4)M6 Flat Washers
(4)M6Lock nuts

Fig 3

Shop for quality APG products on our website. Learn more about running boards and step bars we have.

https://www.carid.com/apg/
https://www.carid.com/running-boards.html

